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Money, currency in circulation and production of gross domestic product are 
essential cumulative factors of macroeconomic stability of the State. Cost variation of a money unit 
influences level of prices in economy and income level of economic agents. In particular money 
stock, volume of currency circulation and gross domestic product are constituents of determining 
value of money on a nationwide scale. 

In the article problems of determining value of national currency in economy were studied; 
general-theoretical approaches to building the model of determining value of money unit were 
formulated. 

Theoretical and methodological procedures of the scientific study are fundamental premises 
of the quantity theory of money. 

money, monetary circulation, gross domestic product, value of money unit, 
money stock, velocity of turnover of money unit. 
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